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Area of a triangle

0 Find the area of each triangle below.
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© Drow three triangles with a base of 4 cm and an area of 8 cme. What do
the triangles have in common?
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© o) 8en thinks that the area of this triangle is Ssm
24 cm?. Explain what Ben has done wrong.

What is the area of the triangle?

b) Alex thinks that the area of this triangle is 60 cm?.
Is Alex correct? Explain why.

10 cm’

Find the area of each triangle.
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1) David says "The area of my square is 28cm
squared.”

Explain why David is incorrect.

2) Sarah has a piece of fabric in the shape of
a parallelogram. It's height is 12m and its base
is 18m.

She cuts the fabric into four equal
parallelograms by cutting the base and height in
half.

What is the area of each new parallelogram?

3) Look at the squares below:

{ The area of the inner square is 36cm squared.

i The outer squares area is four times the size of
i the inner square. What is the length of one side
i of the outer square? How do you know?




